Quiz ba Calculus 2 4/2/04

Each problem is worth 5 points. For full credit provide proper justification for your answer.
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1. Find a selution to the differential equation — = 100 —0.3m subject to the initial condition that

dt
Ruse dk‘@'ﬁ" 180=0 314 i w(p)= 400.
- el
é‘/‘g’% : . 400 = lo0-AeT"
il = e
4 e
IIDDF by (20 = |D{}-,ﬂf’tED
oy —l ,&wf'fﬂﬂrﬂ-?}mj - b+ e 20
D.5 r i
cq Qi lice -02m|l=-0-3t-C ;
o -0at-C fence, fe '?E{Jl S{[] Tha
I 40D - DB = €& e
-o0.3F b _a.3t
(34 DD~ 0:.%nA .':Jﬁrc",’_ . ol 2ibis
| ralt )= 100+ =2
[};I = BDida = A E:'D'EE; 10D — e
2t W;E-SBTQE-&E#
H I,-"I.,ﬂ{_f) = ED = -"‘:'::l:.'i.:-'--_'ﬂI 2 a? ¥l = . o
0.

2. Lake Superior has a volume of approximately 12.2 thousand km?, and an outflow rate of rou ghly
65.2 km® per year. Write a differential equation that models the quantity O of some pollutant in the lake

aver time.
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